Figure 15.10. Legislative elections in Britain 1945-2017
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Interpretation. In the 1945 legislative elections, the Labour party obtained 48% of the vote and the Conservatives 36% of the vote
(hence a total of 84% of the vote for the two main parties). In the 2017 legislative elections, the Conservatives obtained 42% of the vote,
and the Labour party 40% of the vote (hence a total of 82%). Note. Liberals/Lib-Dem: Liberals, Liberals-democrats, SDP Alliance. SNP: Scottish National
Party. UKIP: UK Independance Party. Other parties include green and regionalist parties. Sources and séries: see piketty.pse.ens.frfideology.
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